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NDA 2 2022 — Mathematics - Part 1

Q)The value of
sin (5) + tan ™ (1) is equal to
5 7
@0 (b)
o)X d
(c) 3 (d)



NDA 2 2022 — Mathematics - Part 1

Q)The value of
sin [g) + tan [1) is equal to
5 7
@0 (b)
o)X d
(c) ; (d)

Ans: (b)



NDA 2 2022 — Mathematics - Part 1

Q) A committee of two persons is constituted from two men
and two women. What is the probability that the

committee will have only women?

1 1 1 2
(a) E (b) E (c) E (d) E



NDA 2 2022 — Mathematics - Part 1

Q) A committee of two persons is constituted from two men
and two women. What is the probability that the

committee will have only women?

1 1 1 2
(a) E (b}g (G}E (d) E

Ans: (a)
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Q) What is the value of the determinant

1
1

1

1
]+xyz

1

1
1

1+ xyz

@)1+ x+ y+ z

(c)

;{.2 _].-”EEE

(D) 2xyz
(d) 2x%y* z*
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Q) What is the value of the determinant
1 1 1
1 1+ xyz 1 ?

1 1 1+ xyz

@)1+ x+ y+ z (D) 2xyz
(c) x*y*z° (d) 2x%y* z*

Ans: (c)
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Q) What is the sum of the series
03 +033+0333+...n terms?

(a)

(c)

3
1
3

\
L n-i{‘l—i

B \
n_i(‘l_i

ol 10"/

3l 10"

by
()3

’
(d) 3

AT
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Q) What is the sum of the series
03+ 033 +0333+...n terms?

1 1 1)
a)—|n-—-|1- D) —
()3_ 9( 10" ) ()3

[ 1 1] 1
c)—|ln-—|1- — d) —
()3 3( 10" ). ()3

Ans: (a)

AT

n_3(1_

9

n—1(1+
9
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and 21'—-3}'__3 -

the sum of the
intercepts ?

(a) 2
(b) 3
(c) 4

(d) 6



NDA 2 2022 — Mathematics - Part 1

Uts equal inger-
Quadrant, Wy, is

absolute values of the

cepts in the fourgh
the sum of the
intercepts ?

(a) 2
(b) 3
(¢) 4

(d) 6
Ans: (a)
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Q) A question is given to three students A, B and C whose

11 1
chances of solving it are —, — and — respectively. What is

2 3 4

the probability that the question will be solved?

1 1 3 23
(@) 5 b)5 ©3 (@



NDA 2 2022 — Mathematics - Part 1

Q) A question is given to three students A, B and C whose

11 1
chances of solving it are —, — and — respectively. What is

2 3 4

the probability that the question will be solved?
() 1 1 3 23

o (b)z (G)Z (d)a

Ans: (c)
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-1f 1 -fx\_m
Q)If tan [2)+tan (3) 1 where

0 <x <6, then what is x equal to ?
(@) 1
(b) 2
(c) 3

(d) 5
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-1f 1 -fx\_x
Q)If tan [2)+tan (3) 3 where

0 <x <6, then what 1s x equal to ?
(@ 1
(b) 2
(c) 3

(d) 5

Ans: (a)
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Q) If tanO—-ﬁ then what can be the

value of sin@?

() = but cannot be <2,

13

(b) - but cannot be -1-55
_3
(c) = or 13

(d) None of the above



NDA 2 2022 — Mathematics - Part 1

Q) If tan0=—l—52-, then what can be the

value of sin@?

(a) 1—55 but cannot be —

13

-1 3

(b) 3 but cannot be 13
D . 5
© 1313

(d) None of the above
Ans: (c)
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Q)If B is a non-singular matrix and A is a square matrix,

then the value of det(B™" AB) is equal to
(a) det (B) (b) det (A) (c)det(B") (d)det(A™)



NDA 2 2022 — Mathematics - Part 1

Q)If B is a non-singular matrix and A is a square matrix,

then the value of det(B™" AB) is equal to
(@)det(8)  (b)det(d)  (c)detB)  (d)det(A™)

Ans: (b)
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Q)What are the degree and order respectively of the

2 2
differential equation y = x(d—y] + dx ?
dx dy

(a) 1,2 (b) 2, 1 (c) 1,4 (d) 4, 1
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Q)What are the degree and order respectively of the

2 2
differential equation y = x(ﬂ] + dx ?
dx dy

(a) 1,2 (b) 2, 1 (c) 1,4 (d) 4, 1

Ans: (d)
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Q)Undc.tr. which one of the followin
conditions are the lines qx + by+c= g
and bx + ay + ¢ = parallel (@ # 0
b=0)? 1

(a) a-b=0only
(b) a+b=0 only
(c) a*-br=0

(d) ab+1=0
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Q)Under which one of the

£ ] L] f |
cogd;)tmns are the lines ax + b;l:? :lng
and ox + ay + ¢ =
be 0y? parallel (a = 0,

(@) a-b=0 only
(b) a+b=0 only
(€) a*=b*=0
(d) ab+1=0

Ans: (c)
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NDA 2 2022 — Mathematics - Part 1

Q) The fifth term of an AP of n terms, whose sumisn’ —2n,
18
(a) 5 (b) 7 (c) 8 (d) 15



NDA 2 2022 — Mathematics - Part 1

Q) The fifth term of an AP of nterms, whose sum isn’ — 2n,
18
(a) 5 (b) 7 (c) 8 (d) 15

Ans: (b)
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Q)For two dependent events A and B, it is given that
P(A)=02 and P(B)=05. If AC B. Then the values of
conditional probabilities P(A|B) and P(BA) are

respectively
2 3 2
a) —, — b) =, 1
(@) = E (b) .
(c) 1, g (d) Information is insufficient



NDA 2 2022 — Mathematics - Part 1

Q)For two dependent events A and B, it is given that
P(A)=02 and P(B)=05. If AC B. Then the values of
conditional probabilities P(A|B) and P(BA) are

respectively
2 3 2
a) —, — b) =, 1
(@) = E (b) .
(c) 1, g (d) Information is insufficient

Ans: (b)
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Q)In how many ways can a team of 5
players be selected out of 9 players so
as to exclude two particular players ?

(a) 14
(b) 21
(¢) 35
(d) 42



NDA 2 2022 — Mathematics - Part 1

Q)In how many ways can a team of 5
players be selected out of 9 players so

as to exclude two particular players ?
(a) 14
(b) 21
(c) 35
(d) 42

Ans: (b)
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0 1
Q)If A = L U} then the value of A* is

10 1 1 0 0 0 1
(a)[ﬂ J (b)[o D} (G}L 1] {d}{1 D]
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0 1
Q)If A= L U} then the value of A* is

1 0 1 1 00 0 1
oL ol e[ o]

Ans: (a)
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Q)If 3sin"!x + cos~'x = x, then what is x
equal to ?

(a) 0

N | —

(®)
1
©

1
@ 75

‘L‘
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Q)If 3sin~'x+ cos'x = x, then what is x
equal to ?

(a) O

®) >
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Q)The equation of straight line which cuts off an intercept
of 5 units on negative direction of Y-axis and makes and
angle 120° with positive direction of X-axis is

(@) y+ V3x+5=0 b)y-+3x+5=0
(C)y+ 3x=-5=0 (d)y-+3x-5=0



NDA 2 2022 — Mathematics - Part 1

Q)The equation of straight line which cuts off an intercept
of 5 units on negative direction of Y-axis and makes and
angle 120° with positive direction of X-axis is

(@) y+ V3x+5=0 b)y—v3x+5=0
(C) y+ +/3x =5=0 (d)y-+/3x-5=0

Ans: (a)
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Q)What is im e’ —(1+x)
x—=0 xz
(a) 0 (b)

equal to?



NDA 2 2022 — Mathematics - Part 1

Q)What is lim ¢ ~ (1 T x‘)
x—0 X
(a) 0 (b)
2

Ans: (b)

equal to?



NDA 2 2022 — Mathematics - Part 1

Q) Three-digit numbers are formed from the digits 1, 2 and 3
in such a way that the digits are not repeated. What is the
sum of such three-digit numbers?

(a) 1233 (b) 1322 (c) 1323 (d) 1332



NDA 2 2022 — Mathematics - Part 1

Q) Three-digit numbers are formed from the digits 1, 2 and 3
in such a way that the digits are not repeated. What is the
sum of such three-digit numbers?

(a) 1233 (b) 1322 (c) 1323 (d) 1332

Ans: (d)
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Q) What is the value of
2(2%1)+3(3%2x1)+4(4%3x2x 1)+
S(5%¥Ax3%2x 1)+ i vevens e, +
D(I*BxTx6x5%x4%x3%x2x]1)4+2 ?

(a) 11!
(b) 10!
(c) 10+10!
(d) 11+10!



NDA 2 2022 — Mathematics - Part 1

Q) What is the value of
2(2%1)+3(3%2x1)+4(4%3x2x 1)+
S(S5¥4X3IX2x 1)+ iies s e, +
D(I*BxTx6x5%x4%x3%x2x]1)4+2 ?

(a) 11!
(b) 10!
(c) 10+10!
(d) 11+10!

Ans: (b)
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Q)The position of the point (1, 2) relative to the ellipse
2x% +7y* =201is

(a) outside the ellipse

(b) inside the ellipse but not at the focus
(c) on the ellipse

(d) at the focus



NDA 2 2022 — Mathematics - Part 1

Q)The position of the point (1, 2) relative to the ellipse
2x% +7y* =201is
a) outside the ellipse
b) inside the ellipse but not at the focus

(
(
(c) on the ellipse
(d) at the focus

Ans: (a)
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NDA 2 2022 — Mathematics - Part 1

Q) The sum of all the two-digit odd numbers is

(a) 2475 (b) 2530
(c) 4905 (d) 5049
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Q) The sum of all the two-digit odd numbers is

(a) 2475 (b) 2530
(c) 4905 (d) 5049

Ans: (a)
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Q) The maximum value of

@)e {b}é

In x .
1S

X

(©) 2

e
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Inx .

Q) The maximum value of 1S

X

(a)e ()

)2
=

1
e

Ans: (b)
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Q) What is the solution of the differential equation

]n[g)—a:ﬂ?
dx

(@) y=xe® + C b) x=ye® + C
c)y=Inx+C () x=Iny+ C

_—



NDA 2 2022 — Mathematics - Part 1

Q) What is the solution of the differential equation
ln[ﬂj —a=07?

dx
(@) y=xe® + C (b) x=ye® + C
(c)y=Inx+C (d)x=Iny+ C

Ans: (a)
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QIf 1,,®° are the cube roots of unity, then
(1+ o)1+ 0*)(1+w’)(1+ v+ w®)is equal to

(a) =2 (b) -1 (c)0 (d) 2



NDA 2 2022 — Mathematics - Part 1

QIf 1,,®° are the cube roots of unity, then
(1+ o)1+ 0*)(1+w’)(1+ v+ w®)is equal to

(a) =2 (b) -1 (c)0 (d) 2

Ans: (c)



NDA 2 2022 — Mathematics - Part 1

Q)Let Sbe the set of all persons living in Delhi. We say that
x, yinSare related if they were born in Delhi on the same
day. Which one of the following is correct?

(a) The relation is an equivalent relation

(b) The relation is not reflexive but it Is symmetric and
transitive

(c) The relation is not symmetric but it is reflexive and
transitive

(d) The relation i1s not transitive but it is reflexive and
symmetric

0:20



NDA 2 2022 — Mathematics - Part 1

Q)Let Sbe the set of all persons living in Delhi. We say that
x, yinSare related if they were born in Delhi on the same
day. Which one of the following is correct?

(a) The relation is an equivalent relation
(b) The relation is not reflexive but it Is symmetric and

transitive

(c) The relation is not symmetric but it is reflexive and
transitive

(d) The relation i1s not transitive but it is reflexive and
symmetric

Ans: (a)
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(x* 7 +e* ")dxe

Q)What is I — equal to?
% €
(a)X; + C (b)In(x+ e)+ C
(c)In(x* + &)+ C (d) lln(x‘3 +e")+C

e
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(x*7' +e™ )dx

Q)What is I — equal to?
X TE
(a)X; + C (b)In(x + &) + C
(¢)IN(E + &*) + C (d) Nn(eE + 4+ C
e

Ans: (d)
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Q) What is the derivative of log, (5x° + 3) with respect to x?

xlog,, € 2xlog,, €
a b 10

()5x2+3 ()5x2+3
() 10xlog,, e (d) xlog, 10

5x° + 3 5x° + 3
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Q) What is the derivative of log, (5x° + 3) with respect to x?

xlog,, e 2xlog,, e
a b 10
()5x2+3 ()5x2+3
10xlog,, e xlog, 10
C d :
()5x2+3 ()5x2+3

Ans: (c)
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4
Q)If f(x) = it x and g(x)=1In L+ x , then what is the
1+ 4x° 1—x
e—1
value of fg[ )equal to?
e+1
(@) 2 (b) 1 ©)0 (d) %
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4
Q)If f(x) = it x and g(x) =1In Lt x , then what is the
1+ 4x° 1—-x
value of fg[e _ 1) equal to?
e+1
(8) 2 (b) © 0 @

Ans: (b)



NDA 2 2022 — Mathematics - Part 1

Q)The inverse of the function y =5""
1
@) x=y"®,y>0 (0) x =y, y>0
1

() x=y"5, y<0 (d) x = 5Iny, y > 0
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Q)The inverse of the function y =5""

(a)x=V”1_5,y>0 D) x =y"° y>0

(C)x =yn5 y<O (d) x = 5lny, y> 0

Ans: (a)
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QIf a=2+3]+ 4k and a=3i+ 2] — Ak are
perpendicular, then what is the value of A?
(3) 2 (b) 3 (c) 4 (d) 5



NDA 2 2022 — Mathematics - Part 1

QAIf a=2+ 37 + 4k and a=3i+ 2] — Ak are
perpendicular, then what is the value of A?
(3) 2 (b) 3 (c) 4 (d) 5

Ans: (b)
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Q)What is the distance between the foci
of the ellipse x2 +2y*=17?

(a) 1

() V2
() 2

d) 22



NDA 2 2022 — Mathematics - Part 1

Q)What is the distance between the foci
of the ellipse x2 +2y?=17?

(a) 1

(b) 2
(¢) 2

d) 22

Ans: (b)
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Q)A force 1:*‘} =i+3]+ 2k acts on a particle to displace it
from the point A(; +2] — 3?2) to the point B(Sf —J+ 51:)
The work done by the force will be
(@) 5 units (b) 7 units (C) 9 units (d) 10 units



NDA 2 2022 — Mathematics - Part 1

Q)A force 1:*‘} =i+3]+ 2k acts on a particle to displace it
from the point A(f +2] — 3)’2) to the point B(Sf —J+ 51:)
The work done by the force will be
(a) 5 units (b) 7 units (c) 9 units (d) 10 units

Ans: (c)
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1+
Q) The smallest positive integer n for which [1 I) =1, 1s
— i

(a) 1 (b) 4 (c) 8 (d) 16



NDA 2 2022 — Mathematics - Part 1

1+
Q) The smallest positive integer n for which ( IJ =1, 1is
1—1

(@) 1 (b) 4 (c) 8 (d) 16

Ans: (b)



1-YEAR FULL ACCESS
SSB ONLINE COURSE 2022

START YOUR SSB INTERVIEW PREPARATION TODAY WITH SSBCRACKEXAMS
D A AAKAK 5(132 ratings) 17,552 students enrolled

Includes: e

‘& Conference
® OIR Test B Medical
® PPDT L1 Live Class

&) Psychological Tests % Success Stories
31 Personal Interview

¥ Personal Guidance
z_llz SSB Trends -5

X Group Tasks &2

f

=
e
4
ll

11

I

EXAMS



NDA 2 2022 — Mathematics - Part 1

Q)A point is chosen at random inside a circle. What is the

probability that the point is closer to the centre of the

circle than to its boundary?

1 1 1 1
(@) = (b) 7 (C) 3 (d) >



NDA 2 2022 — Mathematics - Part 1

Q)A point is chosen at random inside a circle. What is the

probability that the point is closer to the centre of the

circle than to its boundary?

1 1 1 1
(a) = (b) 7 (C) 3 (d) >

Ans: (b)
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Q)A tea party is arranged for 16 people along two sides of a

long table with eight chairs on each side. Four particul
men wish to sit on one particular side and two particul

men on the other side. The number of ways they can
seated is

(2)24x 8!x 8] (b) (8] (c)210x8!x8!  (d) 16

0:20
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Q)A tea party is arranged for 16 people along two sides of a

long table with eight chairs on each side. Four particul
men wish to sit on one particular side and two particul

men on the other side. The number of ways they can
seated is

(2)24x 8!x 8] (b) (8] (c)210x8!x8!  (d) 16

Ans: (c)

ar
AT
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NDA 2 2022 — Mathematics - Part 1

Q)The matrix A has x rows and x + 5columns. The matrix B

has y rows and 11 — y columns. Both AB and BA exist.
What are the values of x and y respectively?

(a) 8 and 3 (b) 3 and 4
(c) 3and 8 (d) 8 and 8

0:20
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Q)The matrix A has x rows and x + 5columns. The matrix B

has y rows and 11 — y columns. Both AB and BA exist.
What are the values of x and y respectively?

(a) 8 and 3 (b) 3 and 4
(c) 3and 8 (d) 8 and 8

Ans: (c)
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eass) o d
Q)If y = (cos x)'* " then & s equal to

dx
(@) - y° tanx ) y° tanx
1- yIn(cosx) 1+ yIn(cosx)
©) y tanx Q) yZsinax

1— yIn(sinx) 1+ yiIn(sinx)



NDA 2 2022 — Mathematics - Part 1

)

dy

Q)If y = (cos x)'* 9" then o is equal to
b
@) - Yy’ tanx ) y° tanx
1— yIn(cosx) 1+ yIn(cosx)
2 .
)Y tan.:jr: Q) yzsm.a?:
1= yIn(sinx) 1+ yiIn(sinx)

Ans: (a)
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Q) Consider the following statements

dy

1. — at a point on the curve gives slope of the tangent at

dx
that point.

2. If a(t) denotes acceleration of a particle, then
J.a(t)d I + ¢ gives velocity of the particle.

3. If s(t) gives displacement of a particle at time ¢, then ds

di
gives its acceleration at that instant.

Which of the above statements is/are correct?
(a) 1 and 2 only

(b) 2 only

(c) 1 only

(d)1,2and 3
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Q) Consider the following statements

d _ .
1. 2 ata point on the curve gives slope of the tangent at

dx
that point.

2. If a(t) denotes acceleration of a particle, then
Ia(t)dt + ¢ gives velocity of the particle.

3. If s(t) gives displacement of a particle at time £, then @

dt
gives its acceleration at that instant.

Which of the above statements is/are correct?
(@) 1 and 2 only

b) 2 only

c) 1 only

d)1,2and 3

Ans: (a)

(
(
(
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Q) If tana + tanfi= 1 - tana.tanf, where
tana.tanf#1, then which of the
following is one of the values of

(a+p)?

(@ %

(b)

L

(c)

WX

(d)

(ST
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Q) If tana +tanfi=1—tana.tanf, where
tanatanf#1, then which of the
following is one of the wvalues of

(a+f)?

@ %
b =

(©)

WX

(d)
Ans: (b)

(STp- |



NDA 2 2022 — Mathematics - Part 1
d dy ax+ h
dx by + k

represents a circle only when

(@)a=b=0 (bya=-b#0
(c)a=b=#0h=k (da=b=#0

Q)The general solution of
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dy ax + h

Q) The general solution of

dx by + k
represents a circle only when
(@)a=b=0 bya=-b#0
(c)a=b#0h=k (da=b=#0

Ans: (b)
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Q)_[( In x)" dx — _[( In x)~ dx is equal to

(@) x(nx)" +C (b) x(Inx)? + C
(©) x(Inx) + C (d) x(Inx)* + C
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Q).[( In x)" dx — j( In x)~ dx is equal to

(@) x(nx)" +C (b) x(Inx)? + C
(©) x(Inx) + C (d) x(Inx)* + C

Ans: (a)
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QIf y=x+x" +x” + ... up to infinite terms where x <1,

then which one of the following is correct?

@x=—Y_ Ox=2_ @x=FY (hx=1"Y
'|+}.-' 1—},:' y y
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QIf y=x+x" +x” + ... up to infinite terms where x <1,

then which one of the following is correct?

[El)j::.L. (b}l:l:z.i. (G);};:H____y [d)x=1_y
1+_}f’ “]—},f y y

Ans: (a)
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+1 -1 d
Q)If y =sec™ x +sin| = then 2 is equal to
x—1 x+1 dx

@0 (b) 1 © =1 (@
x + 1 x — 1
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+1 -1 d
Q)If y = sec'l(x J + sin'l[x } then - is equal to

x—1 x+1 dx
@) 0 (b) 1 ©*=1 (@ FH
x + 1 x — 1

Ans: (a)
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Q)The area of the region bounded by
the parabola y* = 4kx, where k> 0 and
its latus rectum is 24 square units.
What is the value of &7

(a) 1
(b) 2

(c) 3

(d) 4
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Q)The areca of the region bounded by
the parabola y? = 4kx, where k> 0 and
its latus rectum is 24 square units.
What is the value of k7

(a) 1
(b) 2

(c) 3

(d) 4
Ans: (c)
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Q)For two events A and B,

let P(A)= % P(A U B) =§ and P(A A B) = é What is

P(A N B) equal to?

1 1 1 1
(a) 5 (b) y (c) 3 (d) >
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Q)For two events A and B,

let P(A)= % P(A U B) =§ and P(A A B) = % What is
P(A N B) equal to?

1 1 1 1

1 b) 1 a
(a) - (b) Z () - ( )2

Ans: (a)
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Q) The area bounded by the curve | x| +|y|=1

(a) 1 square unit (b) 2+4/2 square units
(C) 2 square units (d) 2+/3 square units
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Q) The area bounded by the curve | x| +|y|=1

(a) 1 square unit (b) 2+4/2 square units
(C) 2 square units (d) 2+/3 square units

Ans: (c)
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Q)What is J'_; i cqual to ?
(@) -2
(b) -1
() 1

(d) 2
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Q)What is J'—] X

PRTY v equal to ?
(a) -2
(b) -1
(c) 1

(d) 2

Ans: (b)
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Q)The coefficient of correlation when coefficients of
regression are 0.2 and 1.8 is

(a) 0.36 (b) 0.2 (c) 0.6 (d) 0.9
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Q)The coefficient of correlation when coefficients of
regression are 0.2 and 1.8 is

(a) 0.36 (b) 0.2 (c) 0.6 (d) 0.9

Ans: (c)
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Q) The value of

1 1 1
+ +

log,e log,e’
(@) log, 9 (b) O

log, e

+ ...up to infinite terms is

(€)1

(d)log, 3
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Q) The value of

1 1 1
+ +

log.e log,e® log,e

(@)log, 9 (b) O

Ans: (a)

+ ...up to infinite terms is

(€)1

(d)log, 3
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Q)If y = cos '1( “x } then dy is equal to

1+ x° dx
(a) — for all| x| < 1 (b) — ~for all| x| > 1
14+ x° 1+ x
(c) for all| x| <1 (d) None of these

1+ x°
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d
Q)If y = cos™ “X ) then 2 is equal to
1+ x? dx

(a) — for all | x| <1 (b) —

1+ x° 1+ x

> for all{ x| > 1

(C)

1 > forall|x| <1 (d) None of these
+ x

Ans: (a)
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Q) The function f(x)=|x|— x’is

(a) odd (b) even
(c) both even and odd (d) neither even nor odd
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Q) The function f(x)=|x|— x’is

(a) odd (b) even
(c) both even and odd (d) neither even nor odd

Ans: (d)
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Q)If y = (x*)*, then what is the value of
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QIf y = (x*), then what is the value of

b ety

@ 5

(b) 1
(c) 2
(d) 4

Ans: (b)



NDA 2 2022 — Mathematics - Part 1

Q) Two digits out of 1, 2, 3, 4, 5 are
chosen at random and multiphed
together. What is the probability that

the last digit in the product appears
as 07

(a) %

(b)

A

(c)

At

(d)

| da
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Q) Two digits out of 1, 2, 3, 4, 5 are
chosen at random and multiphed
together. What is the probability that
the last digit in the product appcars
as 07

@

(b)

| =—

(c)

Fls]

(d)
Ans: (b)

| 4=
i
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Q)The modulus and principal argument of the complex

1+2i *
number are respectively

1—(1-1i)?
(a) 1,0 (b) 1, 1 (c)2,0 (d) 2, 1
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Q)The modulus and principal argument of the complex

1+ 2i .
number are respectively

1—(1-1i)?
(a) 1,0 (b) 1, 1 (c) 2,0 (d) 2, 1

Ans: (a)
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Q) I
4f(x)-f(§) =(2x+%) (Zx——)l;),
then what is £(2) equal to ?
(@) 0
(b) 1
(c) 2
(d) 4
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Q) If
47~ (4)=(2x+1)(26-1),
then what is f(2) equal to ?
(a) 0
(b) 1
(c) 2

(d) 4

Ans: (d)
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Q)The value of the determinant

for all values of O, is
(@)1 (b) cos© (C)sin® (d) cos260
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2 B . 92 H
cos“ — sin“ —
Q)The value of the determinant 92 %
sin® — cos® —
2 2
for all values of O, is
(@)1 (b) cosO (C)sin® (d) cos26

Ans: (b)
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Q)If lim S _ [ and lim COSX _ m, then which one of the
xag X X—=e X
following is correct?
(@)/=1m=1 () /=2, m=co
m
© /=2 m=0 (d)/=1m=os

T
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Q)If lim S Y Jand lim 222 % = m, then which one of the
2 X x—vee X
following is correct?
(@)/=1m=1 () /=2, m=co
"
© /=2 m=0 (d)/=1m=os
T

Ans: (c)
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Q)The differential equation of minimum order by
eliminating the arbitral constants A and C in the
equation y = A[sin(x + C) + cos(x + C)] is
(@) y'+ (sinx + cosx)y'=1 (b) y’' =(sinx + cosx)y’

)y’ =(y) + sinxcosx (d)y’+y=0

0:20



NDA 2 2022 — Mathematics - Part 1

Q)The differential equation of minimum order by
eliminating the arbitral constants A and C in the
equation y = A[sin(x + C) + cos(x + C)] is
(@) v/ + (sinx + cosx)y'=1 (b) ¥y’ =(sinx + cosx)y
)y’ =(y) + sinxcosx (d)y’+y=0

Ans: (d)
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Q) The principal value of sin™ x lies in the interval

(o  nTom
@(-33) Clis

oo E} (d) [0, =]
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Q) The principal value of sin™" x lies in the interval

(T T T om

T h| T T
(a)a 2’2) ()_ 2'2}
©|o g} (d) [0, 7]

Ans: (b)
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